ggd

ud gd ud ud ooooobod
1 = ggd E 150,000
2 = ggd E 75,000
T3 = goo E 32,500
T3 = goo E 32,500
TS = goo E 28,000
TS = goo E 28,000
TS = goo E 28,000
T8 = goo E 25,000
T8 = goo E 25,000
T8 = goo E 25,000
11 = ggd E 22,500
T12 = goo E 18,714
T12 = goo E 18,714
T12 = goo E 18,714
T12 = goo E 18,714
T12 = goo E 18,714
T12 = oogno E 18,714
18 = goo E 16,500
T19 = goo E 15,500
T19 = goo E 15,500
T21 = ggd E 13,400
T21 = ggd E 13,400
T21 = ggd E 13,400
T21 = ggd E 13,400
T21 = ud E 13,400
T21 = ggd E 13,400
T21 = ggd E 13,400
T28 = ggd E 12,300
T28 = ggd E 12,300
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T30

T30

T30

T30

T30

T30

T30

goo

goo

goo

goo

goo

goo

goo

11,400
11,400
11,400
11,400
11,400
11,400

11,400
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